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QUESTION 1

Heparin is an anticoagulant.

What is the primary purpose of drugs like Heparin?
A. to cause nausea

B. to prevent the heart from stopping

C. to cause drowsiness

D. to prevent the blood from clotting

Correct Answer: D

Explanation:

An anticoagulant is a substance that stops blood from clotting.

QUESTION 2

Which of these has the most influence on oceanic tides?
A. the gravitational pull of the Sun on the Earth

B. the gravitational pull of the Moon on the Earth

C. the rotational turn of the Earth on its axis

D. the shifting of tectonic plates

Correct Answer: B

QUESTION 3

A Celsius temperature of 100 degrees is equivalent to a Fahrenheit temperature of
A. 100 degrees

B. 32 degrees

C. 0 degrees

D. 212 degrees

Correct Answer: D

Explanation:
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Celsius temperature of 100 degrees = 212 degree Fahrenheit

QUESTION 4

Which of the following is NOT a fruit?

A. Corn

B. Tomatoes

C. Peppers

D. Carrots

Correct Answer: D

Explanation:

Fruits have seeds.

Carrots do not have seeds and are considered a vegetable.

Corn is scientifically a fruit since it is the seed of the corn plant.

QUESTION 5

The temperature of the atmosphere is less during the nighttime hours because

A. the side of the earth not feeing the sun loses heat by convection

B. the side of the earth feeing the sun loses heat by evaporation

C. the side of the earth not feeing the sun loses heat by radiation

D. people set their thermostats lower when they go to bed

Correct Answer: C

Explanation:

The temperature of the atmosphere fells during the nighttime hours because the side of the earth not

facing the sun loses heat by radiation.
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